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Lo 10: FD10::/64 eui-64
Lo 20: FD20::/64 eui-64

Lo 10: FDO1::/64 eui-64
Lo 20: FD20::/64 eui-64

lJodssule IJpuwegsed


https://www.cisco.com/en/US/docs/ios/ipv6/command/reference/ipv6_05.html#wp2320779
https://www.cisco.com/en/US/docs/ios/ipv6/command/reference/ipv6_05.html#wp2320779

Suwwgde 03l Idpuwous IJodssule IJoldss:

- IJpszo R1
- 1Jpozo R2
- IJpozo R3

$9u22 03 1JB$359 1J8)6 IJIuwluus wso guslo IPVE IJeeds JUboulb sguslo 1w Idizhbs
IJeldps WO p9zole Cisco I0S:

. Bop lJgosly | s Jhoolb IPv6
IJp9zo R1

host nane R1

!
i pv6 cef

!
i pv6 uni cast-routing

!
i nterface Loopbackl0

no i p address

ipv6é address FD10::/64 eui-64

!--- Assigned a IPvé6 unicast address in EUI-64 format. ipvé ospf 1 area 1

!--- Enables OSPFv3 on the interface and associates the interface loobackl0O to area 1. ! interface Loop
no i p address ipvé address FD20::/64 eui-64
ipv6é ospf 1 area 2

!-—- Associates the Interface loopback20 to area 2. ! interface Serial0/0 no ip address ipv6é address
2001::1/124
ipv6é ospf 1 area 0

!--- Associates the Interface serial0/0 to area 0. clock rate 2000000 ! ipv6 router ospf 1 router-id 10
!-—-- Router RI uses 10.1.1.1 as router id. | o0g-adjacency-changes ! end

LjﬂgaoIRZ LJﬂ9a°|Q3

host nane R2 host nane R3

! !

i pv6 cef i pv6 cef

! !

i pv6 uni cast-routing i pv6 uni cast-routing

nterface Loopbackl0

! no i p address

nterface Serial 0/0 ipv6é address FD0l::/64 eui-64
no i p address ipv6 ospf 1 area 1

ipv6 address 2001::2/124 !

ipv6 ospf 1 area 0 nterface Loopback20

clock rate 2000000 no i p address

! ipv6 address FD20::/64 eui-64
! ipvé ospf 1 area 2

nterface Serial0/1 !

no i p address

nterface Serial 0/0

ipv6é address 2002::1/124 no i p address
ipv6 ospf 1 area 0 ipv6 address FE80::AB8 link-local
clock rate 2000000 ipv6é address 2002::2/124

! ipvé ospf 1 area 0
! cl ock rate 2000000
! !

i pv6 router ospf 1 pv6 router ospf 1
router-id 10.2.2.2 router-id 10.3.3.3
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| og- adj acency- changes | og- adj acency- changes
! !

end end

lJoedd

IJozdd po wdosy OSPF

JJozdd pu wdssw OSPF Luvdd Logse: luwaés e show ipvé route ospf I 1o, B.s IJp9zosw R1 9
R3.

show ipV6 route ospf
IJpszo R1
Rl#show i pv6 route ospf
| Pv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R- RP, B- BG
U - Per-user Static route, M- MPv6
I1 - 1SISL1, 12 - 1SISL2, IA- ISISinterarea, IS - ISIS summary
O- CSPF intra, O - CSPF inter, CEl - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - EI GRP external
O  FDO1::C002: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
O 2002::/124 [110/128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
O  FD20:: C002: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
IJpsze R3
R3#show ipv6é route ospf
| Pv6 Routing Table - 10 entries
Codes: C - Connected, L - Local, S - Static, R- RP, B- BG
U - Per-user Static route, M- MPv6
I1 - 1SISL1, 12 - 1SISL2, IA- ISISinterarea, IS - ISIS summary
O- CSPF intra, O - CSPF inter, CEl - OSPF ext 1, OE2 - OSPF ext 2
ON1 - OSPF NSSA ext 1, ON2 - OSPF NSSA ext 2
D - EIGRP, EX - ElI GRP external
O 2001::/124 [110/128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
O  FD10:: C000: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
O  FD20:: C000: 1DFF: FEEO: 0/ 128 [ 110/ 128]
vi a FE80:: C001: 1DFF: FEEO: O, Serial 0/0
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IJewslo Ideeds JJboulb 1UglLo o Ping R3 oy 1Jpeszo R1
W IJpesze R1

Rl#ping FE80::ABS8
!--- Pinging Link-Local Address of router R3. Qutput Interface: serial0/0

!--- To ping LLA, output interface must be entered. Type escape sequence to abort. Sending 5, 100-byte
Echos to FE80::AB8, tineout is 2 seconds: Packet sent with a source address of FE80:: C000: 1DFF: FEEO: O
Success rate is 0 percent (0/5) !--- The ping is unsuccessful and the ICMP packet cannot reach the
destination through serial0/0. !--- This timeout indicates that R1 has not received any replies from th
router R3.

o IJewslu Ideeds Jbowlb ool IUlouald po beds pouodsd pului,é

wlJouwed Jdesze R2: sop wyuosd Idpseele R1 9 R3 pulyiné 9spdu lRool louald IJgwslo
lJeeds JJLooll JJJ po ldpesge R19 R2 g0 wyuosdol JJslzoesd sle 1dLods lJpeouodé
wldpsge. swp o2 IJIE)le oul:

leoul) IUlouold R1 Link-Local Address oo [Je9z0 R2
Vs IJp9ze R2

R2#ping FE80::C000:1DFF:FEE0:0
!--- Pinging Link-Local Address of router R1. Qutput Interface: serial0/0

!--- Note that to ping LLA, output interface should be mentioned In our case, R2 connects to R1 via
serial0/0. Type escape sequence to abort. Sending 5, 100-byte | CWMP Echos to FE80::C000: 1DFF: FEEO: 0, tim
is 2 seconds: Packet sent with a source address of FE80::(C001: 1DFF: FEEO: 0 !'!!!!l Success rate is 100 per
(5/5), round-trip mn/avg/ max = 0/ 19/ 56 ns

[)lz ouozse Jizble oo R1

R1#

*Mar 1 03:59:53.367: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 03:59:53.371: ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 03:59:53.423: | CWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 03:59:53.427: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 03:59:53.463: | CVMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 03:59:53.463: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 03:59:53.467: | CVMPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 03:59:53.467: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

*Mar 1 03:59:53.471: | CWPv6: Received echo request from FE80:: C001: 1DFF: FEEO: 0
*Mar 1 03:59:53.471: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O

!--- The debug output shows that the router R2 can ping router R1's link-local address.
2ol IJlouold R3 Link-Local Address o0 1Je9z0 R2
Vs IJp9zo R2

R2#ping FE80::ABS8
!--- Pinging Link-Local Address of router R3. Qutput Interface: serial0/1

!--- Note that,to ping LLA,output interface should be mentioned. In our case, R2 connects to R3 through
serialO/1. Type escape sequence to abort. Sending 5, 100-byte | CMP Echos to FE80::AB8, tineout is 2 sec
Packet sent with a source address of FE80::(C001: 1DFF: FEEO: 0 !'!!!!l Success rate is 100 percent (5/5), ro
trip mn/avg/ max = 0/18/ 60 ns

[&lz ouerse Iigble po R3
R3#

*Mar 1 04:12:11.518: | CMPv6: Received echo request from FE80:: CO01: 1DFF: FEEOQ: O
*Mar 1 04:12:11.522: |ICVMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.594: | CMPv6: Received echo request from FE80:: C0O01: 1DFF: FEEOQ: O
*Mar 1 04:12:11.598: |ICMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 04:12:11.618: | CMPv6: Received echo request from FE80:: C0O01: 1DFF: FEEOQ: O
*Mar 1 04:12:11.618: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O



*Mar
*Mar
*Mar
*Mar

1 04:12:11.622
1 04:12:11.622
1 04:12:11.626
1 04:12:11.630:

| CMPv6
| CMPv6
| CMPv6
| CMPv6

Recei ved echo request from FE8O0:
Sendi ng echo reply to FE80::C001
Recei ved echo request from FE8O0:
Sendi ng echo reply to FE80::C001

CO001: 1DFF: FEEO: O
1DFF: FEEO: O
CO001: 1DFF: FEEO: O
1DFF: FEEO: O

!___

The debug output shows that the router R2 can ping router R3's link-local address.

sSeuo) ewslo Idboulb Ipeds eds wdd 1Juieds IUpedss Béb. $pdu lu sdso JJpseelw
o w IJewsly IJ,oa._Js Jdbhooulb: 9pg 3JY spdg JJL}'DU-:J& lJpo0dé Pului!_)é IJlouold
vegueol ldoguo 290 Ls webhuo. 03l Jsuw 09 v wo Vs 2lJs E_u3|u IJoo IJizbs IJele. Sev
io SY9u guslu ldoo Ulabs IJeldpes 138 sop w9zgsoo W6l b Iduveds. seao Il,g, show
ipV6 interface brief |Jpog J9ple 29d guslu IULoolb IJpeds sds 1Uslgos.

show ipV6 interface brief
Vs lJpsze R1
Rl#show ipv6é interface brief
Serial 0/0 [up/ up]
FE80: :AB8
2001::1
Loopback10
FE80: : C000: 1DFF: FEEO: O
FD10: : C000: 1DFF: FEEO: O
Loopback20
FE80: : C000: 1DFF: FEEO: O
FD20: : C000: 1DFF: FEEO: O
Vs lJpsze R3

R3#show ipv6é interface brief

[ up/ up]

[ up/ up]

Serial 0/ 0
FE80: :AB8
2002:: 2
Loopback10
FE80: : C002: 1DFF: FEEO: O
FDO1: : C002: 1DFF: FEEO: O
Loopback20
FE80: : C002: 1DFF: FEEO: O
FD20: : C002: 1DFF: FEEO: O

[ up/ up]
[ up/ up]

[ up/ up]

!--- Shows that R1 and R3's serial interface has same link-local address FES80::ABS8.

B o3l lJpeld: sop cguosue R19R3 pe v IJguslo Idpeds JUboulb sspdu v suad
R2 |Js JJl Idpszosy g wedss slzos U1l sle 1o ds.

eu9lo Ibeulb IJppds 1Jgluo o Ping R19 R3 oy R2
£u9l toul) IUlouold R1 Link-Local po R2
R2#ping FE80::ABS

Qut put Interface: serial0/0

!--- R2 is connected to R1 through serial0/0. Type escape sequence to abort. Sending 5 100-byte |ICWP E
to FE8O::AB8, tineout is 2 seconds: Packet sent with a source address of FE80::C001: 1DFF: FEEQO: 0 !!!!1l S
rate is 100 percent (5/5), round-trip mn/avg/ max = 0/26/92 ns

[&)lz ouoese IJigble oo R1
R1#

*Mar 1 19:51:31.855: | CMPv6: Received echo request from FE80:: C0O01: 1DFF: FEEOQ: O
*Mar 1 19:51:31.859: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:51:31.915: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:51:31.919: |ICWv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:51:31.947: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:51:31.947: |ICWv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:51:31.955: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:51:31.955: |ICWPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
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*Mar 1 19:51:31.955: |ICMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:51:31.955: |ICMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
ewdlu ltoul) IUlouold R3 1Jpzds po R2

R2#ping FE80::ABS8

Qutput Interface: serial0/1

!--- R2 is connected to R1 through serialO/1. Type escape sequence to abort. Sending 5 100-byte |ICWP E
to FE80::AB8, tineout is 2 seconds: Packet sent with a source address of FE80::C001: 1DFF: FEEQO: 0 !!!!1l S
rate is 100 percent (5/5), round-trip mn/avg/ max = 4/28/76 ns

&)l cuoese Iigble oo R3
Ra#

*Mar 1 19:53:38.815: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.819: |ICMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.911: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.915: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.923: | CMPv6: Received echo request from FE80:: CO01: 1DFF: FEEOQ: O
*Mar 1 19:53:38.927: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.955: | CMPv6: Received echo request from FE80:: CO01: 1DFF: FEEOQ: O
*Mar 1 19:53:38.955: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
*Mar 1 19:53:38.963: | CMPv6: Received echo request from FE80:: C001: 1DFF: FEEOQ: O
*Mar 1 19:53:38.963: | CMPv6: Sending echo reply to FE80:: C001: 1DFF: FEEO: O
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